SERIES 200 PICKET RAILING
INSTALLATION INSTRUCTIONS

REVISION 0.0 (4/16/2020)

PLEASE READ THESE INSTRUCTIONS IN THEIR ENTIRETY PRIOR TO ASSEMBLING RAILING.
IF YOU HAVE ANY QUESTIONS OR NEED ASSISTANCE, PLEASE CALL ONE OF THE NUMBERS BELOW.

DRAWING TITLE:
OVERVIEW, RAILING

DATE: 4/16/2020 wn precisionrailcor
DRAWN BY: TJC 503.512.5353

855.776.7245




2 3/8" SQ POST Q NYLON BOLT CAPS

TOP VIEW SIDE VIEW

l] CAP WASHERS

5" X 5" BASE PLATE ToPVEW  SDEVEW
@ [w——— BASE PLATE SCREWS
END CAP © (oo #10 X 2" SS SCREWS
@ (o #10 X 5/8" SS SCREWS
BOTTOM RAIL © Dumm #8 X 3/4" FH SS SCREWS
E— (1) T-40 TORX IMPACT BIT
TOP RAIL HARDWARE

e
A,

RECOMMENDED TOOLS

QW—‘ TOP RAIL PICKET INFILL
SCISSORS

CENTER PUNCH
i CONNECTING BLOCK

DRILL
@11/64" DRILL BIT
PICKET

MASKING TAPE

SOAP

#2 PHILLIPS SCREW DRIVER BIT

IMPACT DRIVER

LEVEL

PENCIL

TAPE MEASURE

STRING LINE

SHIMS

SPEED SQUARE

ELECTRIC MITER SAW WITH A 10" CARBIDE
? q BLADE SPECIFICALLY FOR CUTTING ALUMINUM

) PICKET SPACER

RUBBER MALLET
PICKET VINYL INSERT 4" C-CLAMP

STOCK LENGTH MATERIAL

DRAWING TITLE:
OVERVIEW, PARTS LIST

DATE: 4/16/2020 wn precisionrailcor
DRAWN BY: TJC 503.512.5353

855.776.7245




4" (MAX) J, 2

=
POST =
/
X X X X A
.
EDGE OF DECK / RAILING
4" (MIN) — 6-0" (MAX)
12'

SAMPLE DECK PLAN

NOT TO SCALE

THINGS TO NOTE:

WHICH SIDES OF YOUR POSTS GET DRILLED FOR RAILING CONNECTION BLOCKS.

MAXIMUM POST SPACING IS 6'-0" FROM CENTER OF POST TO CENTER OF POST.

ALL GAPS, INCLUDING THE SPACE BETWEEN A WALL AND A POST CANNOT EXCEED 4".

THE CENTERLINE OF YOUR RAILING SHOULD BE A MINIMUM OF 4" FROM THE EDGE OF DECK.

IT IS RECOMMENDED THAT YOU SHOULD SPACE YOUR POSTS AN EQUAL DISTANCE APART WHEREVER
POSSIBLE.

DRAWING TITLE:
OVERVIEW, SAMPLE DECK PLAN

DATE: 4/16/2020 wn precisionrailcor
DRAWN BY: TJC 503.512.5353

855.776.7245




6'-0" MAX POST SPACING (CENTER TO CENTER)

30" (MIN)
v

4" (MAX)

4" (MAX)

DRAWING TITLE:
OVERVIEW, DIMENSIONS

DATE: 4/16/2020 wn precisionrailcor
DRAWN BY: TJC 503.512.5353

855.776.7245




_ !
1 |
| |
_ _
_ W
I X
— — W
.............................................. 1T
o =)
[
I O
| I
| _
|
£
_ 8IS € e = 8
_ SER32
> c BN
O m N ©
OFN©
oo NDOow~
58 OPww
_Aln o 3SN 340439 AdOD 40 9NIZIS H3d0Hd F4NSN3 m 2
w n_uhlw A S31LVIdANTL TVNOILIAAY H04 A.034 SV AdOO OLOHd N W
3 2 S3TOH T71Ya MYV OL 3NIT _nl_u
<2 d3IHSVA NO A104 ANV ILV1dINFL 1NO 1ND —
3E M
=
_ —
| _ 52,
| | =
—O-— | F O | QF
o —_— R N
.............................................. 1 I — -~ ..
IM-I 0 .| © >
I = O —~ Z m
_ 2 Z 5 -
| | = o |
_ | S W | g =
8/G € « < | F <
| _ o U < ¥
)] O N




INTENTIONALLY BLANK



POST

/ DRILL (2X) 11/64" PILOT HOLES

/] rd
N TEMPLATE WITH
NN FOLDED BOTTOM
~3 CENTERED ON
“~ POST *

CENTERPUNCH —
CENTER PUNCH AND DRILL BOTTOM HOLES

POST

RAIL CONNECTING
ae / BLOCK (RCB)
\9— USE PHILLIPS BIT

/ AND DRILL TO INSTALL
(2X) #10 X 2" SCREWS

INSTALL BOTTOM CONNECTING BLOCK

DRAWING TITLE:

STEP 1: RCB INSTALLATION

DATE: 4/16/2020
DRAWN BY: TJC

PRECISION RAIL
www.precisionrail.com

503.512.5353
855.776.7245




POST

BASE PLATE

USE (4X) TORX BASE PLATE SCREWS
PER BASE PLATE, INSTALL SNUG USING
T-40 IMPACT BIT AND IMPACT DRIVER

DRAWING TITLE:
STEP 2: BASE PLATE INSTALLATION

DATE: 4/16/2020 wn precisionrailcor
DRAWN BY: TJC 503.512.5353

855.776.7245




SAMPLE DECK
FLOOR PLAN

THINGS TO NOTE:

e USING A TAPE MEASURE AND A STRING LINE, PLACE ALL OF YOUR POSTS IN THEIR PROPER LOCATIONS PER
YOUR DECK PLANS.

e USE ALEVEL ON TWO ADJACENT SIDES OF EACH POST TO ENSURE THE POST IS PLUMB. IF IT IS NOT, USE
SHIMS AS REQUIRED UNDER THE BASE PLATE.

e BE SURE TO FOLLOW MINIMUM AND MAXIMUM DIMENSIONAL REQUIREMENTS AS LISTED ON THE SAMPLE DECK
PLAN.

DRAWING TITLE:
STEP 3: PLACING THE POSTS

DATE: 4/16/2020 wn precisionrailcor
DRAWN BY: TJC 503.512.5353

855.776.7245




NYLON CAP (4)

@3/8" STAINLESS STEEL LAG
SAMPLE DECK

BOLT (NOT INCLUDED)

J CAP WASHER (4)

MARK AND PRE-DRILL PILOT HOLES.
USE SOAP ON LAG BOLTS TO EASE
THE INSTALLATION PROCESS.

LAG BOLT MUST ANCHOR INTO 4"
OF SOLID WOOD MINIMUM

SOLID BLOCKING REQUIRED FOR
FULL LENGTH OF EACH LAG BOLT

SAMPLE ONLY

LAG BOLTS NOT INCLUDED

DRAWING TITLE:
STEP 3: TYP WOOD CONNECTION
DATE: 4/16/2020 o Brogonran o
. 503.512.5353
DRAWN BY TJC 855.776.7245




@"D / NYLON CAP (4)

CONCRETE ANCHOR
(NOT INCLUDED)

SAMPLE DECK \

<
v
@

CAP WASHER (4)

G. —_——

MARK AND PRE-DRILL ANCHOR
LOCATIONS AS REQUIRED

MIN 4" THICK CONCRETE

SAMPLE ONLY

ANCHOR BOLTS NOT INCLUDED

DRAWING TITLE:
STEP 3: TYP CONCRETE CONNECTION

DATE: 4/16/2020 wn precisionrailcor
DRAWN BY: TJC 503.512.5353

855.776.7245




TOP RAIL IS SHIPPED IN 20-0" LENGTHS, CUT AND SPLICE ASREQD ———

CUT PICKET INFILL CAP 1/16" SHORTER
THAN THE DISTANCE BETWEEN POSTS

- —

— CUT BOTTOM RAIL 1/16" SHORTER THAN THE DISTANCE BETWEEN POSTS —

THINGS TO NOTE:

e INSTALL ALL POSTS BEFORE CUTTING TOP AND BOTTOM RAILS.
USE AN ELECTRIC MITER SAW WITH A 10" CARBIDE BLADE SPECIFICALLY FOR CUTTING ALUMINUM.
CUT AND DOUBLE CHECK FIT BEFORE ATTACHING RAILS WITH SCREWS

DRAWING TITLE:
STEP 4: TOP AND BOTTOM RAIL

DATE: 4/16/2020 wn precisionrailcor
DRAWN BY: TJC 503.512.5353

855.776.7245




POST

/ RAIL CONNECTING BLOCK

BOTTOM RAIL

(2X) #10X5/8" SELF DRILLING SCREWS - INSTALL
INTO GROOVE IN BOTTOM RAIL. SLIGHTLY OFFSET
SCREWS FROM EACH SIDE SO THEY DON'T HIT EACH OTHER

RIBBED SURFACE UP

RCB

#10 X 5/8" SS SCREW
(BOTH SIDES, STAGGERED)

=

d

INSTALL BOTTOM RAIL BEFORE TOP RAIL

DRAWING TITLE:
STEP 4: BOTTOM RAIL INSTALLATION

DATE: 4/16/2020 wn precisionrailcor
DRAWN BY: TJC 503.512.5353

855.776.7245

o




(2X) #10X5/8" SELF DRILLING SCREWS - INSTALL
/ INTO GROOVE IN TOP RAIL, CENTERED ON POST
TOP RAIL ) N
Lo ~ P
-

| (4X) #10 X 5/8 SS SCREWS L4
Lo INTO GROOVES UNDER /
<m> TOP RAIL

2-1/2" X 12" X 1/8" ALUM PLATE
SPLICE. ATTACH 6" INTO EACH
TOP RAIL PIECE

<
|
i

-

/ POST

\_/ | \\\ /// |
Lol o O~ Sy P
ATTACH TOP RAIL i T
TO POST Lo '
8-1/2" X 8-1/2" X 1/8" ALUM PLATE
90 DEGREE SPLICE. ATTACH
6" INTO EACH TOP RAIL PIECE
\ TOP RAIL SPLICE
TOP OF POST

PICKET INFILL CAP, / /
SNAP INTO PLACE '
#10 X 5/8" SS SCREW
TOP RAIL INFILL ~ (BOTH SIDES OF POST) \O-j % / %

WARNING: | et I <
SPLICE TOP RAILS WITHIN 8" OF A POST.

PLACING A SPLICE FURTHER AWAY FROM

A POST WILL WEAKEN THE STABILITY OF

THE TOP RAIL. PICKET INFILL CAP,
SNAP INTO PLACE

INSTALL BOTTOM RAIL BEFORE TOP RAIL

DRAWING TITLE:
STEP 4: TOP RAIL INSTALLATION

DATE: 4/16/2020 o Brogonran o

_ 503.512.5353
DRAWN BY: TJC 855 776.7245




PICKET SPACER CUT LENGTH CALCULATOR

THE PICKET SPACERS COME PRE CUT TO 3.875" (3-7/8"). HOWEVER, TO CENTER YOUR PICKETS BETWEEN THE
POSTS, YOU WILL NEED TO CUT THE 4 END SPACERS (SEE ARROWS BELOW) IN EACH RAILING RUN.

THIS IS THE CALCULATION TO DETERMINE THAT CUT LENGTH.

(A) = INSIDE DISTANCE EXAMPLE: 69.25
(B) = (A) DIVIDED BY 4.5 EXAMPLE: 69.25/4.5 =15.39

(C)= ROUND (B) DOWN TO WHOLE ~ EXAMPLE: IF (B) = 15.39, THEN (C) = 15

(D)= (C) - 1 EXAMPLE: 15-1 = 14
(E) = (C) X 0.625 EXAMPLE: 15 X 0.625 = 9.375
(F) = (D) X 3.875 EXAMPLE: 14 X 3.875 = 54.250
(G)=(A) - (E) - (F) EXAMPLE: 69.25 - 9.375 - 54.25 = 5.625
(H)= (G)/ 2 EXAMPLE: 5.625 / 2 = 2.8125
CUT 4 SPACERS EQUAL TO (H)
(A)
(H) (H)
é | | ; |
— <L
(H) (H

o/ o/

DRAWING TITLE:
STEP 5: PICKET INFILL

DATE: 4/16/2020 o Brogonran o

DRAWN BY: TC i




~>

\— END SPACER THAT YOU

CUT TO LENGTH *
~ ~
CUT TOP VINYL FULL LENGTH
AS TOP RAIL PICKET CAP
INSTALL VINYL EXTRUSION CUT AND INSTALL FIRST PICKET SPACER
/\ @‘}%
\‘<|_ /| > SN
END SPACER THAT YOU
CUT BOTTOM VINYL FULL / CUT TO LENGTH *
/ LENGTH OF BOTTOM RAIL ;

* USE A C-CLAMP OR RUBBER MALLET TO ASSIST
SNAPPING THE SPACERS ONTO THE RAIL IF NEEDED

DRAWING TITLE:
STEP 5: PICKET INFILL

DATE: 4/16/2020 wn precisionrailcor
DRAWN BY: TJC 503.512.5353

855.776.7245




TYPICAL UNCR
SPACER *

PICKET 7

N

INSTALL PICKET AND NEXT SPACER

QW‘JI} <>
/ PICKET
TYPICAL UNCUT
SPACER *

<

~-

REPEAT PICKETS AND SPACERS

<

* USE A C-CLAMP OR RUBBER MALLET TO ASSIST

SNAPPING THE SPACERS ONTO THE RAIL IF NEEDED

DRAWING TITLE:
STEP 5: PICKET INFILL

DATE: 4/16/2020
DRAWN BY: TJC

PRECISION RAIL
www.precisionrail.com
503.512.5353
855.776.7245




IT IS NECESSARY TO PLACE THE LAST THREE PICKETS IN >
THE CHANNELS BEFORE THE SPACERS. IT IS COMMON TO
PLACE THE THREE PICKETS TO THE END AS SHOWN.
SHIFT THE PICKETS AROUND TO ALLOW SPACER INSTALLATION.
THE LAST TWO SPACERS INSTALLED WILL BE THE OTHER
TWO CUSTOM LENGTH SPACERS THAT YOU CUT.

DRAWING TITLE:
STEP 5: PICKET INFILL

DATE: 4/16/2020 o Brogonran o
. 503.512.5353
DRAWN BY TJC 855.776.7245




END CAP

(2X) #8 X 3/4"
FH SMS

DRAWING TITLE:
STEP 6: END CAP INSTALLATION

DATE: 4/16/2020 wn precisionrailcor
DRAWN BY: TJC 503.512.5353

855.776.7245




